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In the courthouse of Rav Hunoh — RI177 297 N31°97 S22

OVERVIEW

727 ruled regarding the v3, which was found 7"97 X1°7 °22 that we return it based on
the m1wn which states 7"°2 7wyn 75 should be returned, for since it was not 17,
there is no concern for two couples with the same names, even though it is MW
nxn. The question that MdIN addresses is perhaps the husband changed his mind
(7711 Xnw) and no longer wishes to divorce his wife.
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»'"'w9 explained that it was brought there (by the wife) to authenticate the

signatures of the 2> in 7'"2 -
- NI NN HY ROV 12WN N9T 151 52 AUPN 591 90U 0IU *ROYM)

So now 7121 properly proved from the 71wn of 2°117° 7''92 mwwn Yo that we are not

concerned that perhaps the vi belongs to another couple -
=IPININ RDT 1199 MNEN MIYT ) DY 9N

Even though that ny13% n11»w, but since it is 3211717 8%, we are not concerned —

moon offers another case where there is no wwn of 7711 XAW:
= HYIYN 1919 D9IYIY DMPN 1INV 123 N

Or you may also say that the vx was not 27p», but the r°%w lost it, in which case -
- (039 10p%) THTIYNA IINTI NYYWA 5193 XYY HVaY 199 yan PNT 79139 199WN KT

We are not concerned for 9221 since the husband cannot be w2 the w3, if he is
not in the presence of the mYw, as the X3 states in n9w7 P70 —

mooIn distinguishes between the previous two answers

- AURY 99TNS 593 31 1P XY 199N 99998 099913 *INY
For if we are discussing a v which was 2'p» already, so even if we do not
know who lost it, nevertheless it should be returned to the woman -

Poa'a.

2 This indicates that the va reached the woman, for it is the wife who seeks o1p, not the husband, therefore there is
no wwn for 2n1 RAW.

? Now that there is no wwn of 72»1, only the wwn that perhaps it is someone else’s v3; this we can prove from 7wy
7">2 that we are not wwn for "2 "2 if it is PIIT RY.

* There is a dispute there whether, in a case where 5w 192 X>w 1703, if it is 21121 or not. However we are not wwn
that he was 2021 since it is 2027 0K, even according to the 7" that Y0121 1701

> Seemingly a preferable X071 would be *X7 (instead of >Xv).

® This is how >"@1 interprets it here.
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As the X773 states that a 1% does not authenticate the 2uw,’ only the m9n, similarly
the husband is not 2p» the v, only the woman.

modIn comments:
- 593 NYYYN TRV S0P YD (nanuxt Hmnn 11018, 91 NYISN NXIAT NP P93 YaN

In the first P75 of »''2 noon, however, »''w1 explained that the mo%w lost it -
= N OMPNT T N DYUYNN VIVIT NN 22X ’N) OV v

And “"v1 also explained there, regarding this which 727 resolved the issue
from the mawn of 7'"52 mwyn, since that the V3 was PR —

NN asks:
- 91‘\’5\’)11 1999 993WA 1bmb wvinb v ox9 Y

And there is a difficulty; for if there is concern for 7921 even when the mobw

lost it -
- T91339 WIN®Y NYT 0991 NPV 13 D9 NN

What will help that it was 2912 so that we should not be concerned for 7971 -
- NN 1Y 930 KY TU9) NI RN

For in any case the 03 never came to the woman’s possession —

An additional question on *"w75 there:
- HV‘WJVP: IND W99 VIN NN DD HYANY M PNT I

And furthermore it is not usual that the husband should be 2%p» the vx as

''w9 explained here -
+90Y 209991 NY 1197 (3,0 91 RIS AT NP PI9 9102 9INT)

And as the X713 states in the end of the first P22 of »''a noon that the Mm% is not
a»pn the WY, and similarly the husband is not 0»pn the va.

" Therefore if the v3 is 2™ pn we assume she is already divorced and we return it to her, however according to the 1'%
where it was not 2°»pn and the 5w lost it, we return it to the 15w and he can then divorce her with this v3.

8 We cite the "w; 951 1371 WX W7 MW D172 DMPK .RI19T %2 nanwNT. It seems that *"w1 there, combined both
explanations which no1n mentioned here (it was 2>p» and the 75w lost it).

’ Normally the husband cannot be Svan the m5wi %193 X9w 13, but somehow even if we will assume that he was S0an
the mHwi *192 K7W 13 (according to the 7"n that Y1121 Y202 [see footnote # 4]), and nevertheless *"w1 maintains that
we will return it to the woman since it was 2pn.

' The woman was never divorced yet, so how can we be sure, by the fact that it was 2pn (by the husband or the
m°2w) that the husband was not 7711. Therefore its best to say either of the answers that n1901n mentioned previously,
namely that it was 0P or that the m°%w lost it, but not both.

55 7"7 (regarding the 7% [not the 5v3]).

21t is the one who needs the 70w for their benefit, who is 0»pn the 20w (the M7 and the 7WwKX), not the Hyam mb.
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SUMMARY

We can be sure that the Yv2 was not 7223, either if it was 0°p7n (and we return it to
her), since the %¥2 is not 2»pn, or if the 75w lost it (and we return it to the 1°5W),
since the H¥2a cannot be 5v2an, unless it is W *102.

THINKING IT OVER

It seems from N90N that >"wA here interprets the case that the woman lost the ©3
after she was 0°pn it in 7"2."> However see *"w" here X7 *2 1"72 where he writes;
"WIn R am 7911 "1 aw Xnw'; indicating that the 5w lost it. Otherwise, >"wn
would have written \ny21n X7 1 2911, The question of MooIN therefore, is on *"wA
here as well!"*

13 See footnote # 2.
' See oo 1.
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